| will know how to compare multiplication structures 25.1.21

SXS=_ SHATEY L USEA IS et
OEX10=__ SHOTEGY L USEA ISt
7X2 = SHAIEGY [ USEA IS i e
TOXT0=__ Strategy | USEA IS e i e e
BX3= SO Y | USEA ISt
OX4=__ SOty | USEA IS i e

\\‘ Calculate the answers

Four children walked to school on Monday. Twice as many
children walked to school on Tuesday. How many children walked on Tuesday?

Ella bought five packs of lego cards. If each pack contained five cards, how many cards
did she buy altogethere



1 ladybird has 2 spots.

Wy 2 1x2=2
-I%. -"'
How many spots do 2 ladybirds have?
2+2=
J'.%ll ;.%_:
How many spots do 3 ladybirds have?
‘% % % 2+2+2= 3x2=
O WY
How many spots do 4 ladybirds have?
1%; 1%; ‘%1 %‘; 2+2+24+2= hx=
;.%_: ;.!i__: ;.%_: J'.%J
How many spots do 5 ladybirds have?
2+ 3+ 2+ 437 = Ex 2=
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